EE 475 Fall 2006 Quiz #2
Name:





1. L-1{} = 
(t)

;  L-1{1/s} = 
us(t)
;

2. L{tu(t)} = 

1/s2
;

3. L-1{1/(s-j) + 1/(s+j)} = 
ejt + e-jt

=2sint
;
4. Let Y(s) = 
[image: image1.wmf])
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, find the initial value y(0): 
1
;
5. And the final value y(inf): 
1/3

;

6. The Euler identity says ejx = 
cosx + jsinx

;
7. Given: [image: image2.wmf]G
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, y/x = 
G1G2
;
8. Given: [image: image3.wmf]G
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, y/x = 
G1+G2
;
9. Given: [image: image4.wmf]G
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, y/x = 
G1 /(1+G1G2)
;
10. Given:[image: image5.wmf]z
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 , s = 
x-y+z
;
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